

(ii) 対1.  $n \geq 2$  のとき,  $\log \frac{a_n}{a_{n-1}} = \log \frac{n-1}{n+1}$ ,  $\frac{a_n}{a_{n-1}} = \frac{n-1}{n+1}$ ,  $a_n = \frac{n-1}{n+1} a_{n-1}$

$$a_2 = \frac{1}{3} a_1 = \frac{1}{3}$$

$n \geq 3$  のとき

$$a_n = \frac{n-1}{n+1} a_{n-1} = \frac{n-1}{n+1} \frac{n-2}{n} a_{n-2} = \dots = \frac{n-1}{n+1} \frac{n-2}{n} \dots \frac{2}{4} \frac{1}{3} a_1 = \frac{2}{(n+1)n}$$

これは  $n=1, 2$  のときも成り立つ

$$\frac{1}{n} - \frac{1}{n+1} = \frac{n+1-n}{n(n+1)} = \frac{1}{n(n+1)} \quad \text{対1. } a_n = 2 \left( \frac{1}{n} - \frac{1}{n+1} \right)$$

$$\sum_{k=1}^n a_k = 2 \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n-1} - \frac{1}{n} + \dots + \frac{1}{1} - \frac{1}{2} \right) = 2 \left( 1 - \frac{1}{n+1} \right)$$